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Problematic solutions for chapter 3 3.1 (a) P(A occurs during two trials) = 1; P(A never occurs in n trials); P(A occurs once in n trials) = 1 ; (1 ; c)n ; np(1 , p)n,1 (b) P(A occurs three times in n trials) = 1 ; P(A never occurs in n trials) ; P(A occurs once in n trials) ; P(A occurs twice in n trials) = 1 ; (1 ; c)n ; np(1 ; p)n;1 ; n(n; 1) 2 p2(1 ; p)n;2
3.2 = 1 6 j 1 6 = 1 36 P(double six three times in n trials00) = 1 ; 50 0 1 36 0 35 36 50 ; 50 1 1 36 35 36 49 ; 50 2 1 36 2 35 36 48 = 0:162 3.6 (a) p1 = 1 ; 5 6 6 = 0:665 (b) 1 ; 5 6 12 12 12 1 ! 1 6 5 6 11 = 0:619 (c) 1 ; 5 6 18 ; 18 1 ! 1 6 5 6 17 ; 18 2 ! 1 6 2 5 6 16 = 0:597 4. 2 3.7 (a) Нехай n представляє кількість перемог, необхідних в
50 іграх, так що чистий прибуток або збиток не перевищує $ 1. Це дає чистий прибуток бути ;1 &lt;; 50 ; n 4 &lt; 1 16 &lt; n &lt; 17:3 n = 17 P (чистий прибуток не перевищує $1) = 50 17 1 4 17 3 4 33 = 0:432 P(чистий прибуток або збиток перевищує $1) = 1 ; 0:432 = 0:568 (b) Нехай n представляє кількість перемог,
необхідних для того, щоб чистий прибуток або програш не перевищували $5. Це дає ;5 &lt; n; (50 ; n) 2 &lt; 5 13:3 &lt; n &lt; 20 P(net gain does not exceed $5) = X19 n = 14 50 n 1 4 n 3 4 50;n = 0:349 P(net gain or loss exceeds $5) = 1 ; 0:349 = 0:651 5. 3 3.8 De ne the events A= r successes in n Bernoulli trials B=success at the ith
Bernoulli trial C=r; 1 successes in the remaining n; 1 Bernoulli trials excluding the ith trial P(A) = n r pr qn;r P(B) = p P(C) = n; 1 r ; 1 pr;1 qn;r We need P(BjA) = P(AB) P(A) = P(BC) P(A) = P(B)P(C) P(A) = r n: 3.9 There are 52 13 ways of selecting 13 cards out of 52 cards. The number of ways to select 13 cards of any suit (out of 13
cards) equals 13 13 = 1. Four such (mutually exclusive) suits give the total number of favorable outcomes to be 4. Thus the desired probability is given by 4 52 13 ! = 6:3 j 10;12 6. 4 3.10 Using the hint, we obtain p(Nk+1 ; Nk) = q(Nk ; Nk;1) ; 1 Let Mk+1 = Nk+1 ; Nk so that the above iteration gives Mk+1 = q p Mk ; 1 p = 8 &gt;&gt;&gt;&lt;
&gt;&gt;&gt;: q p k M1 ; 1 p ; q n 1 ; (q p)k o p 6= q M1 ; kp p = q Це дає Ni = i;1X k=0 Mk+1 = 8 &gt;&gt;&gt;&gt;&gt;&lt; &gt;&gt;&gt;&gt;&gt;: M1 + 1 p; q i;1X k=0 q p k ; i p ; q p 6= q iM1 ; i(i; 1) 2p p = q, де ми використовували No = 0. Аналогічно Na+b = 0 дає M1 + 1 p; Q = a+ b p; q 1 ; q=p 1 ; (q=p)a+b : Таким чином Ni = 8
&gt;&gt;&gt;&lt; &gt;&gt;&gt;: a+ b p ; q 1 ; (q=p)i 1 ; (q=p)a+b ; i p; Q p 6= q i(a+ b; i) p = q 7. 5, що дає для i = a Na = 8 &gt;&gt;&gt;&lt; &gt;&gt;&gt;: a+ b p; q 1 ; (q=p)a 1 ; (q=p)a+b ; а р; q p 6= q ab p = q = 8 &gt;&gt;&gt;&lt; &gt;&gt;&gt;: b 2p; 1 ; a+ b 2p; 1 1 ; (p=q)b 1 ; (p=q)a+b p 6= q: ab p = q 8. 6 3.11 Pn = pPn+ + qPn;a
Аргументація як у (3.43), отримуємо відповідне рівняння ітерації Pn = Pn+ + qPn;a і продовжимо, як у прикладі 3.15. 3.12 Припустимо, що один кращий на k = 1 2 6. Тоді p1 = P(k з'являється на одній кістці) = 3 1 1 6 6 6 2 p2 = P(k з'являються на двох кістках) = 3 2 1 6 2 5 6 p3 = P(k з'являються на всіх деревних кістках) = 1
6 3 p0 = P(k з'являються немає) = 5 6 3 Таким чином, отримуємо чистий прибуток = 2p1 + 3p2 + 4p3; p0 = 0:343: 9. 215 Глава 15 15.1 Ланцюжок, представлений P =        0 1/2 1/2 1/2 1/2 1/2 1/2 0        незвідний і аперіодичний. Другий ланцюжок також незвідний і аперіодичний. Третій ланцюжок має два
аперіодичних замкнутих множини {e1, e2} і {e3, e4} і перехідний стан e5. 15.2 Зауважте, що the sums of rows, and the sums of columns, are a unit in this case. 2008 - 20th            1 1 1 · 1 ... ... ... ... ... 1 1 · · · 1 1            lame→∞ P{xn = ek} = 1 m + 1 , k = 0, 1, 2, · · m. 15.3 This is a problem of success runs,
discussed in examples 15-11 and 15-23. From example 15-23 we get ui+1 = pi,i+1ui = 1 i + 1 ui = uo (i + 1)! so that from (15-206) ∞ k=1 en = u0 ∞ k=1 1 k! = e · u0 = 1 10. 216 gives u0 = 1/e, and the probability of a stable state is given uk = 1/e k! , k = 1, 2, · · · 15.4 If the zero generation is a size m, then the overall process can be
considered as the sum of m independent and equally distributed branching processes x(k) n , k = 1, 2, · · · m, each of which corresponds to the size of unity in the zero generation. 1→∞988| — 20|| -1 place (1st place in the Ranking) {x(m) n = 0|x (m) 0 = 1}] = m k=1 P[x(k) n = 0|x (k) 0 = 1] = πm 0 15.5 From (15-288)-(15-289), P(z) = p0 +
p1z + p2z2 , since pk = 0, k ≥ 3. Also p0 + p1 + p2 = 1, and from (15-307) the probability of extinction is given by insentation to the equation P(z) = z. Note that P(z) − z = p0 − (1 − p1)z + p2z2 = p0 − (p0 + p2)z + p2z2 = (z − 1)(p2z − p0) and therefore two roots of equation P(z) = z1 = 1, z2 = p0 p2 . In 1996 it was &gt; &lt; 1995. This
follows from 11. 217, what is a tribe that does not give offspring in the forebeat is obliged to be dead. 15.6 Define branching process {xn} xn+1 = xn k=1 yk, where yk are random variables i.i.d with the total P(z) generation function, so that (see (15-287)-(15-289)) P (1) = E{yk} = μ. E{xn+1|xn} = E{ xn k=1 yk|xn = m} = E{ m k=1 yk|xn = m}
= E{ m k =1 yk} = mE{yk} = xn μ Similar to E{xn+2|xn} = E{E{xn+2|xn+1, xn}} = E{E{xn+2|xn+1}|xn} = E{μxn+1|xn} = μ2 xn and generally get E{xn+r|xn} = μr xn. (i) Also from (15-310)-(15-311) E{xn} = μn . (ii) Define wn = xn μn . (iii) This gives E{wn} = 1. The division of both sides (i) with μn+r we get E{ xn+r μn+r |xn = x} = μr · xn μn+r = xn
μn = wn 12. 218 or E{wn+r|wn = x μn ∆ = w} = wn, which gives E{wn+r|wn} = wn, the desired result. 15,7 sn = x1 + x2 + · + xn, where xn are random variables i.i.d. We have sn+1 = sn + xn+1 so that E{sn+1|sn} = E{sn + xn+1|sn} = sn + E{xn+1} = sn. Thus, {sn} represents Martingale. 15.8 (a) Of Bayes' theorem P{xn = j|xn+1 = i} =
P{xn+1 = i|xn = j} P{xn = j} P{xn+1 = i} = qj pji qi = p∗ ij, (i), where we assumed that the chain was in stable condition. (b) Note that reversing time is equivalent to p∗ ij = pij and using (i) gives p∗ ij = qj pji qi = pij (ii) or, for a chain that returns in time, we get qj pji = qi pij. (iii) To onys, 219 Thus, using (ii) we get by directly replacing pij pjk
pki = qj qkj qi qi qik = pik pkj pji, the desired result. 15.9 (a) Specified that A = AT , (aij = aji) and aij &gt; 0. Determine the sum of the string ri = k aik &gt; 0, i = 1, 2, · and let pij = aij k aik = aij ri . Then pji = aji m ajm = aji rj = aij rj = ri rj aij ri = ri rj pij (i) or ri pij = rj pji. From here i ri pij = i rj pji = rj i pji = rj, (ii) because i pji = i aji rj = rj rj = 1.
Note that (ii) satisfies the probability distribution of stable state (15-167) qi = c ri, i = 1, 2, · · · Where c is given c i ri = i qi = 1 =⇒ c = 1 i ri = 1 i j aij . 14. 220 Thus, qi = ri i ri = j aij i j aij &gt; 0 (iii) represents a stationary distribution of the probability of a chain. From (iii) to (i) we get pji = qi qj pij or pij = qj pji qi = p∗ ij and therefore the chain is
reversible in time. 15.10 (a) M = (mij) is given M = (I − W)−1 or (I − W)M = I + WM, that gives mij = δij + k wik mkj, ei, ej ∈ T = δij + k pik mkj, ei, ej ∈ T (b) The general register is solved on pages 743-744. From page 744, with N = 6 (2 absorbing states; 5 transnational states), and from r = p/q we get mij =    (rj − 1)(r6−i − 1)
(p − q)(r6 − 1) , j ≤ i (ri − 1)(r6−i − rj−i) (p − q)(r6 − 1) , j ≥ i. 15.11 If the stohastic matrix A = (aij), aij &gt; 0 corresponds to the gable matrix of the Markov chain, 2007 - Did not enter 221 where pij &gt; 0, j pij = 1, and it is not always possible. For example, in two states of the chain, in the 1980s,    α, α β β    α    2005, it was 1,α,000
β,000 s00000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000 0000000000000000000000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000 β (1 − α) (α + β)(1 − β) β2 + (1 − α)(1 − β)   . This sums up these diagonal entries to be a11 + a22 = α2 + 2(1 − α)(1 − β) + β2 = (α + β)2(α + β) + 2 = 1 + (α + β − 1)2 ≥ 1. (i) Therefore, the condition (i) is necessary. Since 0 &lt; α &lt; 1, 0 &lt; β &lt; 1, we also get 1 &lt; a11 +
a22 ≤ 2. Futher, the condition (i) is also sufficient in 2 × 2 cases, since a11 + a22 &gt; 1, α + β − 1)2 = a11 + a22 − 1 &gt; 2 β α 007 - 20 ± √08 β α α - Did not enter 15.12 In this case, the chain is irredient and aperiodic and there are no absorption states. The stable state distribution {uk} satisfies (15-167), so we get uk = jj pjk = N j=0 uj N k
pk j qN−k j β &gt; α &gt; . 0 then fixation of clean genes does not occur. In 1990 it was significant and 1000-1000000000000000000000000000000000000000000000000000000 x (k) i , k = 0, 1, 2, · · · У 1990 році він був обраний до Міжнародної сім'ї в 1988 році. Однак для визначення решти власних значення ми можемо
використовувати зв'язок в (15A-7). Звідти відповідна функція генерування умовного моменту в (15-291) задаĝться G(s) = N j=0 drink sj (i), де від (15A-7) pij = {Ai (z)}j {BN−i (z)}N−j {Ai (z) BN−i (z)}N = коефіціĝнт with 5 zN в {Ai (sz) BN−i (z)} {Ai (z) BN−i (z)}N (ii) За його адресою (ii) в (i) ми отримуĝмо компактний вираз G(s) =
{Ai (sz) BN−i (z)}N {Ai (z) BN−i (z)}N . (iii) Диференціація G(ів) по відношенню до with ми отримуĝмо G (s) = N j=0 Drink j sj−1 = {iAi−1 (sz) A (sz)z BN−i (z)}N {Ai (z) BN−i (z)}N = i · {Ai−1 (sz) A (sz) BN−i (z)} N−1 {Ai (z) BN−i (z)}N . (iv) 17. 223 Letting s = 1 у наведеному вище виразі отримуĝмо G (1) = N j=0 drink j = i {Ai−1 (z) A (z)
BN−i (z)}N−1 {Ai(z) BN−i(z)}N . (v) В особливому випадку, коли A(z) = B(z), Eq. (v) зменшуĝться до N j=0 drink j = λ1 i (vi), де λ1 = {AN−1 (z) A (z)}N−1 {AN (z)}N . (vii) Зверніть увагу, що (vi) можна записати як Px1 = λ1 x1, x1 = [0, 1, 2, · · · N]T і за прямим обчисленням з A(z) = B(z) = (q + pz)2 (приклад 15A-1) отримуĝмо λ1 =
{(q + pz)2(N−1) 2p(q + pz)}N {(q + + pz)2N }N = 2p{(q + pz)2N−1 }N−1 {(q + pz)2N }N = 2p 2N N − 1 qN pN−1 2N N qN pN = 1. Таким чином, N j=0 drink j = i і from (15-224) ці ланцюжки представляють Martin-gales. (Аналогічно для прикладів 15A-2 і 15A-3). Для визначення решти власних оцінок ми ще раз диференціюйте G (и).



Це даĝ G (s) = N j=0 drink j(j − 1) sj−2 = {i(i − 1)Ai−2 (sz)[A (sz)]2 from BN−i (z) + iAi−1 (sz) A (sz) from BN−i (z)}N−1 {Ai (z) BN−i (z)}N = {i Ai−2 (sz) BN−i (z)[(i − 1) (A (sz)) 2 + A(sz)}N−2 {Ai (z) BN−i (z)}N . 18. 224 З s = 1, і A(z) = B(z), наведений вище вираз спрощуĝ N j=0 drink j(j − 1) = λ2 i(i − 1) + iμ2 (viii), де λ2 = {AN−1) = {AN−1( i
− 1) + iμ2 (viii) де λ2 = {AN−1 2 (z) [A (z)]2 }N−2 {AN (z)}N і μ2 = {AN−1 (z) A (z)}N−2 {AN (z)}N . Ек. (viii) може бути переписаний як N j=0 drink j2 = λ2 i2 + (многочлен в i ступеня ≤ 1) і взагалі повторювати цю процедуру процедуру повторювати що (показати це) N j=0 pij jk = λk ik + (многочлен i ступеня ≤ k − 1) (ix), де λk =
{AN−k (z) [A (z)]k }N−k {AN (z)}N, k = 1 , 2, · · · N. (x) Рівняння (viii)–(x) мотивують розглядати тотожності P qk = λk qk (xi), де qk ĝ многочленами в i ступеня ≤ k, і при правильному виборі констант вони можуть бути обрані в цій формі. З цього випливаĝ, що λk, k = 1, 2, · · · N, заданий (ix) представляють бажані значення
власних значення. (a) Ймовірності переходу в цьому випадку виходять з прикладу 15A-1 (сторінка 765-766) з A(z) = B(z) = (q + pz)2 . Таким чином, використовуючи (ix) ми 19. 225 отримати бажані значення λk = {(q + pz)2(N−k) [2p(q + p k }N−k {(q + pz)2N }N = 2k pk {(q + pz)2N−k }N−k {(q + pz)2N }N = 2k 2N − k N − k 2N N , k
= 1, 2, · · · N. (b) Ймовірність переходу в цьому випадку випливаĝ з прикладу 15A-2 (сторінка 766) з A(z) = B(z) = eλ(z−1) і, отже, λk = {eλ(N−k)(z−1) ) λk eλk(z−1) }N−k {eλN(z−1) }N = λk {eλNz }N−k {eλNz }N = λk (λN)N−k /(N− k)! (λN) N/N! = N! (N − k)! Nk = 1 − 1 N 1 − 2 N · · · 1 − k − 1 N , k = 1, 2, · · · N (c) Ймовірність переходу
в цьому випадку випоговні з прикладу 15A-3 (сторінка 766-767) з A(z) = B(z) = q 1 − pz . Таким чином, λk = pk {1/(1 − pz)N+k }N−k {1/(1 − pz)N }N = (−1)k −(N + k) N − k −N = 2N − 1 N − k 2N − 1 N , r = 2, 3, · · N 20. 226 15.14 З (15-240) середній час на вектор поглинання задаĝться m = (I − W)−1 E, E = [1, 1, · · 1]T , де Wik =
pjk, j, k = 1, 2, · · · N − 1, з pjk, як дано (15-30) і (15-31) відповідно. 15.15 Середній час поглинання задовольняє (15-240). Звідти mi = 1 + k∈T pik mk = 1 + pi,i+1 mi+1 + pi,i−1 mi−1 = 1 + p mi+1 + q mi-1, або mk = 1 + p mk+1 + q mk−1. Це даĝ p (mk+1 − mk) = q (mk − mk−1) − 1 Let Mk+1 = mk+1 − mk так, що наведена вище
ітерація даĝ Mk+1 = q p Mk − 1 p to M1 − 1 p 1 + q p + q p 2 + · · · + q p k−1 =    q p to M1 − 1 p − q 1 − (q)k , p = q M1 − k p, p = q 21. 227 Це даĝ mi = i−1 k=0 Mk+1 =    M1 + 1 p − q i−1 k=0 q p − i p − q, p = q iM1 − i(i − 1) 2p, p = q =    M1 + 1 p − q 1 − (q/p)i 1 − q/p − i p − q, p = q iM1 − i(i − 1)
2p, p = q, де ми використовували mo = 0. Так само ma+b = 0 даĝ M1 + 1 p − q = and + b p − q · 1 − q/p 1 − (q/p)a+b . Таким чином, mi =    and + b p − q · 1 − (q/p)i 1 − (q/p)a+b− i p − q, p = q i(a + b− i), p = q , який даĝ для i = a ma =    and + b - q · 1 − (q/p)and 1 − (q/p)a+b− and p − q, p = q ab, p = q =  
 b 2p − 1 − and + b 2p − 1 · 1 − (p/q)b 1 − (p/q)a+b, p = q ab, p = q, написавши 1 − (q/p)and 1 − (q/p)a+b = 1 − (q/p)a − (q/p)a+b 1 − (q/p)a+b = 1 − 1 − (p/q)b 1 − (p/q)a+b (див. також проблему 3-10). 22. 228 Глава 16 16.1 Використання (16-132) з r = 1. Це даĝ pn =    ρn n! p0, n ≤ 1 ρn p0, 1 &lt; n ≤ m = ρn p0, 0 ≤ n ≤ м
Таким чином m n=0 pn = p0 m n=0 ρn = p0 (1 − ρm+1 ) 1 − ρ = 1 =⇒ p0 = 1 − ρ 1 − ρm+1, а отже pn = 1 − ρ 1 − ρn+1 ρn , 0 ≤ n ≤ м, ρ = 1 і lim ρ → 1, отримумо pn = 1 м + 1, ρ = 1. 16.2 (a) Нехай n1(t) = X + Y , де X і Y представляють дві черги. Тоді pn = P{n1(t) = n} = P{X + Y = n} = n k=0 P{X = k} P{Y = n − k} = n k=0 (1 − ρ) ρk
(1 − ρ) ρn−k = (n + 1)(1 − ρ)2 ρn , n = 0, 1, 2, · (i) де ρ = λ/μ. 23. 229 (b) Коли оل'لлнуттсл ерги, нова влна ставка l = l + l = 2l. لакил لинол, 102-16  ) лси ∞ k−0 pk = p0(1 + 2r + 2 ∞ k=2 pk ) = p0(1 + 2r + 2r2 1 − r) = p0 1 − r((2r + 2r2 1 − r) = p0 1لвل .pn =   (l /m)n! p0 = (2r)n! p0, n &lt; 2 22 2! (l 2m)n p0 = 2rn p0, n ≥ 2 (ل
− r((r) 1 + 2r) (1 − r) + 2r2 ) = p0 1 − r (1 + r) = 1 =⇒ p0 = 1 − r 1 + r , (r = l/m). (ii) لакил لинол, pn =  μ  2 (1 − r) rn /(1 + r), n ≤ 1 (1 − r)/(1 + r), n = 0 (iii) (c) اля a M/M/1 لерла серелн (16-106) ل r = 1) E{X} = L1 = ∞ n=2 (n − 1) pn 24. 230 де pn є in (16-88). У 1996 роل ل ∞ вн اув 10-л у 1990-∞, а в 1970-1970-1970-1990-1970-
1970-1990-1970-1970-1970-1970-1970-1970-1970-1970-1970-1970-1970-1970-1970-1970-1970-1977 1 − r) r2 ∞ k=1 k pk−1 = (1 − r) r2 1 (1 − r)2 = r2 (1 − r) . (iv) لскلлки n1(t) = X + Y у нас ê L1 = E{n1(t)} = E{X} + E{Y } = 2L1 = 2r2 1 − r (v) اля L2 ли лолело використоввати (16-106)-(16-107) л r = 2. لикористаннл (iii) اаل L2 = pr
r (1 − r)2 = 2 (1 − r) r2 1 + r (1 − r)2 = 2 r3 1 − 2r = 2 r2 1 − r 1 + r &lt; L1 (vi) From (vi), from (vi) from 16.3 لлинили ненуловили ловврностли лоло тролесу л0,0 = −l0 = −ml, l0,1 = μl,i+1 = (m − i) l, ly,i−1 = im 25. 231 min,i = [(m − i) l + im], i = 1, 2, · · · , μ − 1 μ, μ = −lm,m−1 = −mm. لل лلлнолинали لна (16-63) текст, отрилуло m l p0
= m p1 (i) [(m−i)l+im] pi = (m−i+1) pi−1 +(i+1) m pi+1, i = 1, 2, · , μ−1 (ii) μ pm = l pm−1. (iii) اолв'лок (i)-(iii) отрилуло pi = m i l + m i m l + m л−i , i = 0, 1, 2, · , m 16.4 (a) У لолу випалку pn =   μ1 μ1 · · l m1 = μ1 n p0, n &lt; m l m1 μ1 · · l m1 l m2 · · · l μ2 p0, n ≥ m =   μ  rn 1 p0, n &lt; m pm−1 1 rn−m+1 2 p0, n ≥ μ,
ле ∞ n=0 pn = p0 m−1 k=0 rk 1 + rm−1 1 r2 ∞ n=0 rn 2 = p0 1 − 1 − 1r r2rm−1 1 1 − r2 = r2 = 1 26. 232 даل p0 = 1 − nm 1 1 − r1 + r2rm−1 1 − r2 −1 . (b) L = ∞ n=0 n pn = p0 m−1 n=0 n rn 1 + ∞ n=m n nm−1 1 rn−m+1 2 = p0 ο r1 m−1 n=0 n r 1 1 + r1 r1 r2 μ−2 ∞ n=m n rn−1 2 ο ο = p0 ο r1 d dr1 m−1 n=0 rn 1 + r1 r1 2 mr−2 mr−r 2 d
dr2 ∞ n=m rn 2 ο ο = p0 ο r1 dr1 1 − r 1 − r + r1 r1 r1 r2 m−2 drm 1 − r ο = p r1[1 + (m − 1) rm 1 − mrm−1 1 ] (1 − r1)2 + r2 rm−1 1 + [m − (m − 1)r2] (1 − r2)2 . 16.5 لолу вилалку lei =   l, j &lt; r pl, j ≥ r mi =   jm, j &lt; rm, j ≥ r. Використанння (16-73)-(16-74) дал pn =   (l/m)n! p0, n &lt; r (l/m)r! (pl/rm)n−r , n ≥ r. 27. 233
16,6 P{w &gt; t} = m−1 n=r pn P(w &gt; t|n) = n=r pn (1 − Fw(t|n)) = pr λ rμ n−r (1 − Fw(t|n)) fw(t|n) = e−γμt (γμ)n−r+1 tn−r (n − r)!) (див. 16.116) і Fw(t|n) = 1 − n−r k=0 (γμt)k! E−γμt (див. 4.) так, що 1 − Fw(t|n) = n−r k=0 (γμt)k! e−γμt P{in &gt; t} = m−1 n=r pr γμ n−r n−r k=0 (γμt)k! e−γμt = m−r−1 i=0 pr ρi та k=0 (γμt)k! e−γμt , n − r = i = pr
e−γμt m−r−1 k=0 ρk k i=0 (γμt)i! = m−r−1 k=0 k i=0 = m−r−1 i=0 m−r−1 k=i P{w &gt; t} = pr e−γμt m−r−1 i=0 (γμt)i! м−r−1 к=i ρk = pr 1 − ρ e−γμt м−r−1 i=0 (γμt)i! (ρi − ρm−r ), ρ = λ/γμ. 28. Зверніть увагу, що m → ∞ =⇒ M/M/r/m =⇒ M/M/r та P(in &gt; t) = pr 1 − ρ e−γμt ∞ i=0 (γμρt)i i! = pr 1 − ρ e−γμ(1−ρ)t &gt; 0. і погоджується з
(16,119) 16,7 (a) Використовуйте підказки (b) − ∞ n=1 (λ + μ) mon + μ з ∞ n =1 pn+1 zn+1 + λ ∞ n=1 n k=1 pn−k ck zn = 0 −(ρ + 1) (P(z) − p0) + μ z (P(z) − p0 − p1z) + λ ∞ k=1 m =0 pm zm = 0, що дає P(z)[1 − z − ρz (1 − C(z))] = p0(1 − z) або P(z) = p0(1 − z) 1 − z − ρz (1 − C(z)) . 1 = P(1) = −p0 −1 − ρ = ρz C (z) + ρC(z) = −p0 −1 +
ρC (1) =⇒ p0 = 1 − 0ρ, ρ0 = ρC (1). Нехай D(z) = 1 − C(z) 1 − z . Потім P(z) = 1 − ρL 1 − ρzD(z) . (c) Це дає P (z) = (1 − ρc) (1 − ρzD(z))2 (ρD(z) + ρzD (z)) 29. 235 L = P (1) = (1 − ρc) (1 − ρc)2 ρ (D(1) + D (1)) = 1 (1 − ρc) (C (1) + D (1)) C (1) = E(1) = E(1) x) D(z) = 1 − C(z) 1 − z D (z) = (1 − z) (−C (z)) − (1 − C(z)) (−1) (1 − z)2 = 1 −
C(z) − (1 − z)C (z) (1 − z)2 За правилом L-Hopital D (1) = limz→1 −C (z) − (−1)C (z) − (1 − z)C (z) −2(1 − z) = limz→1 = 1/2C (z) = C (z) 2 = 1/2 k(k − 1) Ck = E(X2 ) − E(X) 2 Л = ρ (E(X) + E(X2 )) 2 (1 − ρE(X)) . (d) C(z)zm E(X) = m P(z) = 1 − ρ 1 − ρ m=1 zk D(z) = 1 − zm 1 − z = m−1 k=0 zk E(X) = m, E(X2 ) = m2 L = ρ(m + m2) 2(1 −
ρm) 30. 236 (e) C(z) = qz 1 − Pz P(z) = 1 − ρ0 1 − ρzD(z), C(z) = qz 1 − pz D(z) = 1 − C(z) = 1 − C(z). z) 1 − z = 1 − qz 1−P(z) 1 − z = 1 − Pz − (1 − P)z (1 − z)(1 − Pz) = 1 − z (1 − z)) (1 − Pz) = 1 −Pz P(z) = (1 − ρ0)(1 − pz) 1 − pz − ρz = (1 − ρ0)(1 − pz) 1 1 − (p + ρ) з C (1) = (1 − pz) q − qz(−p) (1 − Pz)2 = q q2 = 1 q D(z) = 1 − C(z) 1 −
з D(1) = C (1) L = P (1) = 1 − ρc (1 − ρc)2 (ρ · C (1) + ρ · D (1)) D (z) = −(1 − z)C (z) − (1 − C(z)) (ρ − 1) (1 − z)2 = 1 − C(z) − (1) − z)C (1) (1 − z)2 лімз→1 D (z) = лімз→1 −C (z) − (−1)C (z) − (1 − z)) C (z) 2(1 − z) = −(1 − z)C (z) −2(1 − z) = ρ (z) 2 D (1) = C (1) 2 L = 1 (1 − ρc) ρE(X) + ρ (E(X2 ) − E(X)) 2 = ρE(X) + ρE(X2 ) 2(1 − ρc) .
16.8 (a) Використовуйте підказки. (b) − ∞ n=1 (λ + μ) пн + μ zn ∞ n=1 pn+m zn+m + λz ∞ n=1 pn−1 zn−1 = 0 31. або −(1 + ρ) (P(z) − p0) + 1 zm P(z) − m k=0 pk zk + ρzP(z) = 0, що дає P(z) ρ zm+1 − (ρ + 1) zm + 1 = m k =0 pk zk − p0 (1 + ρ) zm або P(z) = m k=0 pk zk − p0 (1 + ρ) zm ρ zm+1 − (ρ + 1) zm + 1 = N(z) M(z) . (i) (c)
Розглянемо многочлен M(z) в (i), заданий M(z) = ρ zm+1 − (1 + ρ) zm + 1 = f(z) + g(z), де f(z) = −(1 + ρ) zm , g(z) = 1 + 1 zm+1 . Зверніть увагу, |f(z)| &gt; |g(z)| у колі, визначеному |z| = 1 + ε, ε &gt; 0. Таким чином, теорема Руча f(z) і f(z)+g(z) мають однакову кількість нулів всередині кола одиниці (|z| = 1 + ε). Але f(z) має m
нулі всередині кола одиниці. Отже, f(z) + g(z) = M(z) також має m нулі всередині кола одиниці. Отже, M(z) = M1(z) (z − z0) (ii), де |z0| &gt; 100000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000 Але момент, що генерує функцію P(z), аналітичний всередині і на колі
одиниці. Таким чином, всі m нулі M(z), які знаходяться всередині або на колі одиниці, повинні бути скасовані нулями полінома чисельника P(z). Звідси N(z) = M1(z) a. (iii) 32. 238 Використання (ii) і (iii) в (i) ми отримуємо P(z) = N(z) M(z) = z − z0 . Але P(1) = 1 дає a = 1 − z0 або P(z) = z0 − 1 z0 − z = 1 − 1 z0 ∞ n=0 (z/z0)n
=⇒ pn = 1 − 1 z0 1 z0 n = (1 − r) rn , n ≥ 0 (iv), де = 1/z0. (d) Середній розмір системи L = ∞ n=0 n pn = r 1 − r . 16.9 (a) Використовуйте підказки в попередній проблемі. (b) − ∞ n=m (λ + μ) pn zn + μ ∞ n=m pn+m zn + λ ∞ n=m pn−1 zn −(1 + ρ) P(z) − m−1 k=0 pk zk + 1 zm P(z) − 2м−1 k=0 pk +ρ z P(z) − m−2 k=0 pk zk = 0. Після
деяких спрощень отримуємо P(z) ρ zm+1 − (ρ + 1) zm + 1 = (1 − zm) m−1 k=0 pk zk або P(z) = (1 − zm) ), m−1 k=0 pk zk ρ zm+1 − (ρ + 1) zm + 1 = (z0 − 1) m−1 k=0 zk m (z0 − z) 33. 239, де ми використовуємо теерем Руча і P(z) ≡ 1, як у проблемі 16-8. (c) P(z) = ∞ n=0 pn zn = 1 − r m−1 k=0 zk 1 − rz дає pn =    (1 + r + · +
rk ) p0 , k ≤ m − 1 rn−m+1 (1 + r + · + rm−1 ) p0, k ≥ m, де p0 = 1 − r m , r = 1 z0 . Нарешті L = ∞ n=0 n pn = Pn(1). Але P (z) = 1 − r m−1 k=1 k zk−1 (1 − rz) − m−1 k=0 zk (−r) (1 − rz)2 так що L = P (1) = 1 − r m − 1 + r (1 − r)2 = m − (1 − r) m (1 − r) = 1 1 − r − 1 м . 16.10 Продовження як у (16-212), ոA(u) = ∞ 0 e−uτ dA(τ) = λ m u + λ
m z m . 34, 2014, in Los Angeles. 240 Це дає B(z) = ոA(ψ(1 − z)) = λ m μ (1 − z) + λ m =   1 1 + 1 ρ (1 − z)   m = ρ (1 + ρ) − z m , ρ = ρ = 1000 м μ . (i) Таким чином рівняння B(z) = z для π0 зменшити до ρ (1 + ρ) − z m = z або ρ (1 + ρ) − z = z1/m , що те ж саме, що і ρ z−1/m = (1 + ρ) − z (ii) Let x = z−1/m . В'єль-е-Буа () —
муніципалітет у Франції, у регіоні Пуати-Де-Сев. Q(z) ( μ ( Z ( 1 − z)]m ( 0 35). 241, it is 1 + + ( 1 − z) = z−1/m . (i) Неаy x = z1/m в анононос виpаd.. − xm ] x = 1 ао ао аненнана аововона àаdовонà à аdовона наововоонна à à xm+1 − (1 + à) x + 1 = 0. (ii) 16.12 16.12 δ . e−s Ti (i) ана (i) на (15.219), оàиààо A(z) = a (à (1 − z)) = k
i=1 di e−ti (1−z) = k i=1 di e−? Ti z = k i=1 di e−1 di e−ti ∞ j=0 (à Ti)j zj! = ∞ j=0 aj zj . 1990-1990-1990-1990-1990-1990-1990-1990-1990-1990- j = 0, 1, 2, · . (i) 36. 242 Щоб отримати чітку формулу ймовірності стійкого стану {qn}, ми можемо використовувати аналіз у (16.194)-(16.204) для черги M/G/1. (16.203)-(16.204) неаi c0 = 1
− a0, cn = 1 − n k=0 ak, n ≥ 1 неае {c (m) k } сосtававà оосàà-m−folk. У 1990 році він був 11-м у 1990-х ∞ роках. (b) Розподіл державно-залежних послуг Let Bi(t) представляє розподіл часу обслуговування для тих клієнтів, які заходять в систему, де останній виїзд залишив i клієнтів у черзі. (15,218) на ak,i = P{Ak| Bi}, dе Ak
= k kàсни p. сисtенанà àоm àасà оbсààовàваннан. If you're ak,i = ∞ 0 e−'t (?k)k! dBi(t) =    ∞ 0 e−'t ('t)k! μ1 e−μ1t dt = μ1ak (μ + μ1)k+1 , i = 0 ∞ 0 e−'t ()k! μ2 e−μ2t dt = μ2yk (μ + μ2)k+1 , i ≥ 1 (i) 37. 243 Ai(z) = ∞ k=0 ak,i zk =    1 1 + ( 1 − z) , i = 0 1 1 + 1 + ( 1 − z) , i ≥ 1 (ii), е 1. = 15.24, совсà совинсà
ссиоо сtанн. [(15.210) àmинсa] qj = q0 aj,0 + j+1 i=1 qi aj−i+1,i (ii) (dив.) 5.212)) Q(z) = ∞ j=0 qj zj = q0 ∞ j=0 aj,0 zj + ∞ j=0 qi aj−i+1 ,i = q0 A0(z) + ∞ i=1 qi day ∞ m=0 am,i zm z−1 = q0 A0(z) + (Q(z) − q0) A1(i) z)/z (iv), dе (dив). (ii)) A0(z) = 1 1 + ( 1 − z) (v) a1(z) = 1 1 + 2(1 − z) . (vi) Вв(iv) Q(z) = q0 (z A0(z) − A1(z)) z − A1(z) . (vii) 38.
244 Ос-à-и Q(1) = 1 = q0 A0(1) + A0(1) − A1(1) 1 − A1(1) = q0 (1 + 1 − − 2 ) 1 − 1 − (viii) ( viii) на (vii) Q(z) yk Q(z) = (1 − à2) (1 − z) A1(z) A1(z) − z · 1 1 + 1 − 2 1 − z A0(z)/A1(z) 1 − z = 1 − 1 − 1 − 2 z 1 1 + 1 - − 2 1 − 1 − 1+1 z 1 − 11+z = Q1(z) Q 2(z) (ix), dе Q1(z) = 1 − 1 − 1 − 2 z = (1 − 2) ∞ k=0 2 zk ta Q2(z) = 1 1 + − 2 − 1 − 1 − 1
+ 1 z i=0 ρ1 1 + ρ1 i zi . Нарешті, заміна. Q1(z) і Q2(z) в (ix) ми отримуємо qn = q0   n i=0 ρ1 1 + ρ1 n−i ρi 2 − n−1 i=0 ρi+1 2 ρn−i−1 1 (1 + ρ1)n−i   . n = 1, 2, · · · · з q0 як у (viii). 39. 245 16.13 З (16-209) Лаплас перетворюється на дистильування часу очікування, але він надається Ψw(и) = 1 − ρ 1 − λ 1−Φss(s) = 1 − ρ 1 − ρ μ
1−Φs(s) s . (i) Нехай Fr(t) = μ t 0 [1 − B(τ)]dτ = μ t− t 0 B(τ)dτ . (ii) представляють розподіл залишкового часу обслуговування. Потім його перетворення Laplace задається ΦF (s) = L {Fr(t)} = μ 1 с − Φs(s) s = μ 1 − Φs(s) s . (iii) Заамілення (iii) в (i) ми отримуємо Ψw(и) = 1 − ρ 1 − ρ ΦF (s) = (1 − ρ) ∞ n=0 [ρ ΦF (s)]n , |ΦF (s)| &lt;
1. (iv) Taking inverse transform of (iv) we get Fw(t) = (1 − ρ) ∞ n=0 ρn F(n) r (t), where F(n) r (t) is the nth convolution of Fr(t) with itself. 16.14 Let ρ in (16.198) that represents the average number of customers that arrive during any service period be greater than one. Notice that 40. 246 ρ = A (1) &gt; 1 where A(z) = ∞ k=0 ak zk From
Theorem 15.9 on Extinction probability (pages 759-760) it follows that if ρ = A (1) &gt; 1, the eqution A(z) = z (i) has a unique positive root π0 &lt; 1. On the other hand, the transient state probabilities {σi} satisfy the equation (15.236). By direct substi- tution with xi = πi 0 we get ∞ j=1 pij xj = ∞ j=1 aj−i+1 πj 0 (ii) where we have made use of
pij = aj−i+1, i ≥ 1 in (15.33) for an M/G/1 queue. Using k = j − i + 1 in (ii), it reduces to ∞ k=2−i ak πk+i−1 0 = πi−1 0 ∞ k=0 ak πk 0 = πi−1 0 π0 = πi 0 = xi (iii) since π0 satisfies (i). Thus if ρ &gt; 1, the M/G/1 system is transient with probabilities σi = πi 0. 16.15 (a) The transition probability matrix here is the truncated version of (15.34)
given by 41. 247 P =                            a0 a1 a2 · · · · am−2 1 − m−2 k=0 ak a0 a1 a2 · · · · am−2 1 − m−2 k=0 ak 0 a0 a1 · · · · am−3 1 − m−3 k=0 ak ... ... ... ... ... ... 0 0 0 · · · a0 a1 1 − (a0 + a1) 0 0 0 · · · 0 a0 1 − a0                            (i) і відповідає матриці верхнього лівого блоку в (15.34), за
яким слідує мт-стовпець, який робить кожний рядок сумою рівним єдності. (b) Прямим сибстицією (i) в (15-167), стійким станом проб-здібностей {q∗ j }m−1 j=0 задовольняє q∗ j = q∗ 0 aj + j+1 i=1 q∗ i aj−i+1, j = 0, 1, 2, · · · , m − 2 (ii) і умова нормалізації дає q∗ m−1 = 1 − m−2 i=0 q∗ i . (iii) Зверніть увагу, що (ii) в тому ж,
що і перші рівняння m − 1 в (15-210) для черги M/G/1. Таким чином, бажане розв∗ =q∗ j }m−1 j=0 має задовольняти перше m − 1 (15-210). Оскільки унікальне розв'язок set to (15.210) задано {qj}∞ j=0 in (16.203), то з цього випливає, що бажані ймовірності задовольняють q∗ j = c qj, j = 0, 1, 2, · · , m − 1 (iv), де {qj}m−1 j=0
є як у (16.203) для черги M/G/1. З (iii) ми також отримуємо константу нормалізації c бути 42. 248 c = 1 м−1 i=0 qi . (v) 16.16 (a) Подія {X(t) = k} може відбуватися декількома взаємовиключними способами, viz., в інтервалі (0, t), прибувають n клієнтів і k з них продовжують свою службу за межами t. Нехай A = n надходжень
(0, t), і Bk,n =точно k послуги серед n прихід продовжуються за межами t, потім теорема загальної ймовірності P{X(t) = k} = ∞ n=k P{An ∩ Bk,n} = ∞ n=k P{Bk,n| A}P(An). Але P(An) = e−λt (λt)n /n!, і оцінити P{Bk,n| An}, ми сперечаємося так: З (9.28), за умови, що є n надходжень (0, t), спільний розподіл моментів прибуття
погоджується зі спільним розподілом n незалежних випадкових змінних, розташованих у порядку збільшення та рівномірно розподілених (0, t). У 1990 році він був 17-м президентом США. t) задається pt = t 0 P(S &gt; t − x|x = x)fx(x)dx = t 0 [1 − B(t− x)] 1 т д 1 т 0 (1 − B(τ)) dτ = α(t) t Таким чином, Bk,n заданий An має
біноміальний розподіл, так що P{Bk,n| An} = n k pk t (1 − pt)n−k , k = 0, 1, 2, · · · n, 43. 249 і P{X(t) = k} = ∞ n=k e−λt (λt)n! n k α(t) t k 1 т 0 B(τ)dτ n−k = e−λt [λα(t)]k! ∞ n=k λt 1 т 0 В(τ)dτ n−k (n − k)! = [λα(t)]k! e −λ t− t 0 B(τ)dτ = [λα(t)]k! e−λ t 0 [1−B(τ)]dτ = [λα(t)]k! e−λ α(t) , k = 0, 1, 2, · · · (i) (b) lim t→∞ α(t) = ∞ 0 [1 − B(τ)]dτ = E{s}
(ii), де ми використовуємо (5-52)-(5-53). Використовуючи (ii) в (i), ми отримуємо lim t→∞ P{x(t) = k} = e−ρ ρk k! (iii) де ρ = λ E{s}. E{s}.
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